Introduction to
Programing with Python
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Coding



Hello Python




print (“Hello Python™)



print (“Hello Python™)



1. print (“Titipong Thammavisut”)

Titipong Thammavisut




2. print (‘Titipong Thammavisut’)

Titipong Thammavisut




3. print (Hello Python)

File "<ipython-input-2-
9489b56b625¢c>", line 1
print(Hello Python)

A

SyntaxError: invalid syntax
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Syntax



File "<ipython-input-2-
9489b56b625c>", line 1

print(Hello Python)
A

SyntaxError: invalid syntax




File "<ipython-input-2-
9489b56b625c>", line 1

print(Hello Python)
A

SyntaxError: invalid syntax




File "<ipython-input-2-
9489b56b625c>", line 1

print(Hello Python)
A

SyntaxError: invalid syntax




File "<ipython-input-2-
9489b56b625c>", line 1

print(Hello Python)
A

SyntaxError: invalid syntax




print (

I . Argument

HoRa APt T Ul




print (“Hello Python”)

I . Argument

BoANHI AR HANFIUN UL




print (‘Hello Python’)

I . Argument

BoANHI AR HANFIUN UL




print (1)

I . Argument

BoANHI AR HANFIUN UL




print ( valiable )

I . Argument

BoANHI AR HANFIUN UL
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print (1+5)
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7+3 =10
7-3=4

73 =21

7 /3 = 2.33333333
7%3 =1

7 **3 = 343
7/3=2




QRuestion



print (20.5 - 30)
print (60 / 5)

print (50 /I 5)

print(1+1+1%*0)
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print (20.5 - 30)
print (60 / 5)

print (50 /I 5)

print(1+1+1%*0)




print(1+1+1%*0)
print(1+1+(1*0))

print((1+1+1)*0)

print(1+(1+1)*0)







print (7 //5* 3)
print (2* (1 - 3))

print((1+1+1)*0)

print(1+(1+1)*0)







QRuestion



print ((4+7%3)-1*3**2)
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print(2 * 3.14 *3)

print(3.14 * (3 ** 2))




r =45

print(2 * 3.14 *3)

print(3.14 * (3 ** 2))




r =45

print(2 * 3.14 *45)

print (3.14 * (45 ** 2))




T =3.14159

282.7430999999997

print (2 * 3.14159 * 45)

6361.71975

print (3.14159 * (45 ** 2))




pi=3.14
r=3

print(2 * py *r)
print (py * (r**2))




w=3.14159 r =45

pi=3.14159
r=45

282.7430999999997
6361.71975

print(2 * pi *r)
print (pi * (r ** 2))
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and assert break class
continue def del ellf

§ else except exec'
{ finally for from global §
g 1f import in is lambda*
| not or pass print ralser
! return try while with|{




pi=3.14
radius =3
area = pi * (radius ** 2)

print (pi * (radius ** 2))
print (area)




radius =3

print (radius)




radius =3
radius =5
print (radius)




radius=3

radius=5
radius = radius + 1
print (radius)




radius=3

radius=5
radius = radius + 1
print (radius)




radius=3
radius=5

radius = radius + 1
radius += 1
radius-=5

print (radius)




QRuestion



year =2
month =year* 12

print (month)
year = year + 1
print (month)
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Print (“Hello Python”) Hello Python




Print (“3.14 + 2.5”)

Print (3.14 + 2.5)



Print (“Hello™) Print (Hello)

is not defined




Print (“Hello™) Hello = “Python”

Print (Hello)




a=3 a="“3”
b=5 b = “5”

Print (a + b) print (a +b)




a=3 a="“3”
b=5 b =“8”
Print (a - b) print (a - b)

TypeError: unsupported
operand type(s) for -:
'str’ and 'str’




a — “3”
b=5
print (a + b)

TypeError: can only
concatenate str (not "int")
to str




a — “3”
b=5
print (a + str(b))




a — “3”
b=5
print(type( a))

print (int(a) + b)
print(type( a ))




a — “3”
b=5
print (“Thisis” +a + “ and ” + str(b))

Thisis3 and 5




a — “3”
b=5
print (“This is %s and %d” % (a, b) )




a — “3”
b=5
print (“This is %s and %d” % (a, b) )

Thisis3 and 5
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s = “Hello, world”
print (s[0])

0 1,2/3/4 5 6 78 9 1011
H e | | o , w o r | d



s = “Hello, world”
print (s[7])

0 1,2/3/4 5 6 78 9 1011
H e | | o , w o r | d



QRuestion



s = “Hello, world”

print (s[12]) IndexError: string
index out of range

0 1,2/3/4 5 6 78 9 1011
H e | | o , w o r | d



s = “Hello, world”
print (s[-1])

0 1,2/3/4 5 6 78 9 1011
H e | | o , w o r | d



s = “Hello, world”
print (s[-7])

0 1,2/3/4 5 6 78 9 1011
H e | | o , w o r | d
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s = “Hello, world”
print (s[2:5])

0 1,2/3/4 5 6 78 9 1011
H e | | o , w o r | d



s = “Hello, world”
print (s[2:5])
print (s[0:6])

0 1,2/3/4 5 6 78 9 1011
H e | | o , w o r | d



s = “Hello, world”
print (s[2:5])
print (s[0:6])

0 1,2/3/4 5 6 78 9 1011
H e | | o , w o r | d



s = “Hello, world”
print (s[2:5])
print (s[0:6])
print (s[:6])

0 1,2/3/4 5 6 78 9 1011
H e | | o , w o r | d




s = “Hello, world”
print (s[2:5])

print (s[0:6])
print (s[:6])

0 1,2/3/4 5 6 78 9 1011
H e | | o , w o r | d




s = “Hello, world”
print (s[1:11])

0 1,2/3/4 5 6 78 9 1011
H e | | o , w o r | d



s = “Hello, world”
print (s[1:11])
print (s[1:])

0 1,2/3/4 5 6 78 9 1011
H e | | o , w o r | d



s = “Hello, world”
print (s[1:11]) ello, worl
print (s[1:]) ello, world

0 1,2/3/4 5 6 78 9 1011
H e | | o , w o r | d



s = “Hello, world”
print (s[1:11]) ello, worl

print (s[1:]) ello, world
print (s[7:-2]))

0 1,2/3/4 5 6 78 9 1011
H e | | o , w o r | d




s = “Hello, world”
print (s[1:11]) ello, worl

print (s[1:]) ello, world
print (s[7:-2])) wor

0 1,2/3/4 5 6 78 9 1011
H e | | o , w o r | d




QRuestion



s = “Hello, world”

0 1,2/3/4 5 6 78 9 1011
H e | | o , w o r | d



s = “Hello, world”
print (s[7:])

0 1,2/3/4 5 6 78 9 1011
H e | | o , w o r | d



s = “Hello, world”
print (s[7:])
print (s[7:12])

0 1,2/3/4 5 6 78 9 1011
H e | | o , w o r | d
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s = “Hello, world”

print (len(s))
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text = “Hello, world”

word = “word”
print (text.find(word))




text = “Hello, world”

word = “man”
print (text.find(word))




text = “Hello, world. This is my world.”

word = “world”
print (text.find(word, 14))

print (text.find(word, 14, len(text)))
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text = "Today is Sunday. | stay at home and keep coding. ™
word = “keep”

text = text [ text.find(word) + len (word) +1: ]

next_word = text [ : text.find(“”) ]
print (next_word)




text = "Today is Sunday. | stay at home and keep coding. "
word = “at”

text = text [ text.find(word) + len (word) +1: ]

next_word = text [ : text.find(“”) ]
print (next_word)




text = "Today is Sunday. | stay at home and keep coding. Today is
Monday. | stay at office and keep cleaning but still keep coding. "

word = “keep”

start_pos=0

text = text [ text.find ( word, start_pos) + len (word) +1 : ]
next_word = text [ : text.find(“”) ]

print (next_word)
start_pos = text.find (“”) + 1




text = "Today is Sunday. | stay at home and keep coding. Today is
Monday. | stay at office and keep cleaning but still keep coding. "

word = “keep”

text = text [ text.find ( word, start_pos) + len (word) +1 : ]
next_word = text [ : text.find(“”) ]

print (next_word)
start_pos = text.find (“”) + 1




text = "Today is Sunday. | stay at home and keep coding. Today is
Monday. | stay at office and keep cleaning but still keep coding. "

word = “keep”

text = text [ text.find ( word, start_pos) + len (word) +1 : ]
next_word = text [ : text.find(“ ™) ]

print (next_word)




W

NI



word = “keep”

print (“world”)
Word_length = len (word)




pi=3.14

radius =3

area = pi * (radius ** 2)
print (area)
new_pi=3.1416
new_radius =5

new_area = new_pi * (new_radius ** 2)

print (hew_area)




pi=3.14

radius =3

area = pi * (radius ** 2)
print (area)
new_pi=3.1416
new_radius =5

new_area = new_pi * (new_radius ** 2)

print (hew_area)




def function_name ( < parameters >) :
<code >

return result

function_name ( < parameters >) :




def get_area ( pi, radius) :
return pi * (radius ** 2)

pi=3.14

radius =3

area = get_area ( pi, radius)
print (area)
new_pi=3.1416
new_radius =5

new_area = get_area (new_pi, new_radius)
print (hew_area)
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def get_tringle_area ( height, base_width) :
return 0.5 * base_width * height

height=10
base width=5

print(get_tringle_area(height, base_width))




text = “Hello, world”

word = “world”
print (text.find(word))




text = “Hello, world”

word = “man”
print (text.find(word))




text = “Hello, world. This is my world.”

word = “world”
print (text.find(word, 14))

print (text.find(word, 14, len(text)))
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text = "Today is Sunday. | stay at home and keep coding. ™
word = “keep”

text = text [ text.find(word) + len (word) +1 :]

next_word = text [ 0: text.find(“ ”) ]
print (next_word)




text = "Today is Sunday. | stay at home and keep coding. "
word = “at”

text = text [ text.find(word) + len (word) +1: ]

next_word = text [ : text.find(“”) ]
print (next_word)




text = "Today is Sunday. | stay at home and keep coding. Today is
Monday. | stay at office and keep cleaning but still keep coding. "

word = “keep”

start_pos=0

text = text [ text.find ( word, start_pos) + len (word) +1 : ]
next_word = text [ : text.find(“”) ]

print (next_word)
start_pos = text.find (“”) + 1




text = "Today is Sunday. | stay at home and keep coding. Today is
Monday. | stay at office and keep cleaning but still keep coding. "

word = “keep”

text = text [ text.find ( word, start_pos) + len (word) +1 : ]
next_word = text [ : text.find(“”) ]

print (next_word)
start_pos = text.find (“”) + 1




text = "Today is Sunday. | stay at home and keep coding. Today is
Monday. | stay at office and keep cleaning but still keep coding. "

word = “keep”

text = text [ text.find ( word, start_pos) + len (word) +1 : ]
next_word = text [ : text.find(“”) ]

print (next_word)
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word = “keep”

print (“world”)
Word_length = len (word)




pi=3.14

radius =3

area = pi * (radius ** 2)
print (area)
new_pi=3.1416
new_radius =5

new_area = new_pi * (new_radius ** 2)

print (hew_area)




pi=3.14

radius =3

area = pi * (radius ** 2)
print (area)
new_pi=3.1416
new_radius =5

new_area = new_pi * (new_radius ** 2)

print (hew_area)




def function_name ( < parameters >) :
<code >

return result

function_name ( < parameters >) :




def get_area ( pi, radius) :
return pi * (radius ** 2)

pi=3.14

radius =3

area = get_area ( pi, radius)
print (area)
new_pi=3.1416
new_radius =5

new_area = get_area (new_pi, new_radius)
print (hew_area)




QRuestion






def get_tringle_area ( height, base_width) :
return 0.5 * base_width * height

height=10
base width=5

print(get_tringle_area(height, base_width))
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def get_area(pi, radius):
return pi * (radius ** 2)

pi=3.14

radius =3

area =get_area(3.1416, 5)
print(area)




def get_area(pi, radius)

return pi * (r
=3.14
radlus 3

area =get_area(3.1416, 5)
print(area)




def get_area(pi, radius):
print("in function™)
print("pi = %0.4f, radius = %d" % (pi, radius))
return pi * (radius ** 2)

pi=3.14
radius =3
area = get_area(3.1416, 5)




def get_area(pi, radius):
print("in functidiag
print("pi = %0.4f, radi > % (pl, radius))
return pi * (radius ** 2)

pi=3.14

radius = 3

arca=get_area(3.1416, 5)

print("after function™)

print("pi = %0.4f, radius = %d" % (pi, radius))




def get_area(pi, radius):
print(*in function®)
print("pi = %0.4f, radius = %d" % (pi, radius))
return pi * (radius ** 2)

pi=3.14

radius =3

area = get_area(3.1416, 5)

print("after function™)

print("pi = %0.4f, radius = %d" % (pi, radius))

in function

pi =3.1416, radius =5
after function

pi =3.1400, radius =3




def get_area(pi, radius):
radius += 1
print(*in function®)
print("pi = %0.4f, radius = %d" % (pi, radius))
return pi * (radius ** 2)
pi=3.14

radius =3

area = get_area(3.1416, 5)

print("after function™)

print("pi = %0.4f, radius = %d" % (pi, radius))

in function

pi =3.1416, radius = 6
after function

pi =3.1400, radius =3




def get_area(pi):
print("in function®)
print("radius = %d" % (radius))
return pi * (radius ** 2)

pi=3.14

radius =3

area = get_area(3.1416)
print("after function™)
print("radius = %d" % (radius))

in function
radius =3
after function

radius=3



def get_area(pi): Local variable
print("in function®)
print("radius = %d" % (radius))
return pi * (radius ** 2)

pi=3.14

radius =3

Global variable

area = get_area(3.1416)
print("after function™)
print("radius = %d" % (radius))

in function N19919996LLUS
radius=3

after function ~ . | |
radius = 3 2. aluae [Uyo9rnim1a1n Global variable

1. ¥9INIAIA1N Local variable now




def find_next_word(text, word, start pos):
text = text[text.find(word, start_pos) + len(word) + 1:]
next_word = text[: text.find(“ )]
print(next_word)
start_pos = text.find(“”) + 1
return text, start_pos

text = "Today is Sunday. | stay at home and keep coding. Today is
Monday. | stay, at office and keep cleaning but still keep coding. "
word = "keep"

start_pos=0

text, start_pos = find_next_word(text, word, start_pos)

text, start_pos = find_next_word(text, word, start_pos)

text, start_pos = find_next_word(text, word, start_pos)
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text ="l keep coding "

word = "keep"

text = text[text.find(word) + len(word) + 1:]
next_word = text[:text.find(“ ”)]
print(next_word)




text ="l keep coding”

word = "keep"

text = text[text.find(word) + len(word) + 1:]
next_word = text[:text.find(" ")]
print(next_word)




if (<Condition>) :

<Block 1>




if (<Condition>) :
<Block 1>

else:
<Block 2>




if (<Condition 1>):
<Block 1>
elif (<Condition 2>) :

<Block 2>
else:
<Block 3>




if (<Condition 1>):
<Block 1>

elif (<Condition 2>):
<Block 2>

elif (<Condition 3>):
<Block 3>

else:
<Block 4>




if (<Condition 1>):
<Block 1>

elif (<Condition 2>):
<Block 2>

elif (<Condition 3>):
<Block 3>

else:
<Block 4>
















QRuestion






score = 80

if (score >=80):
print(“A”)

elif (score >= 70 and score < 80 ):
print(“B”)

elif (score >= 60 and score <70 ):
print (“C”)

elif (score >= 50 and score <60 ):
print(“D”)

else:
print(“F”)




score = 80

if (score >= 80):
print(“A”)

elif (70 <=score <80 ):
print(“B”)

elif (60 <=score<70):
print(“C”)
elif (50 <=score <60 ):
print(“D”)
else:
print(“F”)




score = 80

if (score >= 80):
print(“A”)

elif (score >= 70):.
print (“B”),

elif (score >= 60):
print(“C”)
elif (score >= 50):
print(“D”)
else:
print(“F”)
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def find_next_word(text, word, start_pos):




GGOL%%JU@'% ...... 851982 US LAl

def find_next_word(text, word, start_pos):
text = text[text.find(word, start _pos) + len(word) + 1:]
next_word = text[: text.find(" *)]
print(next_word)
start_pos = text.find(" ') + 1
return text, start_pos



a@o@ﬂugﬂ% ...... 851982 US LAl

def find_next_word(text, word, start_pos):
word_pos = text.find(word, start_pos)
text = text[word_pos + len(word) + 1:]
next_word = text[: text.find(" *)]
print(next_word)
start_pos = text.find(" ') + 1
return text, start_pos



=l [ d: ' o 0 a: ' ' Qs
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def find_next_word(text, word, start_pos):

word_pos = text.find(word, start_pos)

if (word_pos !'=-1): 1499
text = text[word_pos + len(word) + 1:]
next_word = text[: text.find("' *)]
print(next_word)
start_pos = text.find(" ') + 1
return text, start_pos

else: a1(uae

print(“ ")
return “ ", -1



Qs
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def find_next_word(text, word, start_pos):
word_pos = text.find(word, start_pos)
if (word_pos !=-1):
text = text[word_pos + len(word) + 1:]
if (text.find(® ') !=-1):  &18ufeddslailddgatine
next_word = text[: text.find(" ')]
print(next_word)
start_pos = text.find(" ') + 1
return text, start_pos
else:
print(“ ")
return -1



| QW | | | |
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def find_next_word(text, word, start_pos):
word_pos = text.find(word, start_pos)
if (word_pos !=-1):
text = text[word_pos + len(word) + 1:]
if (text.find(® °) !=-1): ddsfogddelaildmgaing
next_word = text[: text.find('')]
print(next_word)
start_pos = text.find("'") + 1
return text, start_pos
else: QINU -1
next_word = text
print(next_word)
start_pos= -1
return text, start_pos
else:
print(“ ™)
return -1



while Loop






a=2
b=1
while (a <= 12):
print(str(a) + "X" + str(b) + "=" + str(a * b))

b=b+1

if (b>12):
a=a+1
b=1




n1S break while



a=2
b=1
while (True):
print(str(a) + "X" + str(b) + "=" + str(a * b))

b=b+1

if (b>12):
a=a+1
b=1

if (a>12):
break
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s = "Hello World"

=1, 2.5, "a" , "hello"]




s = "Hello World"
print(s[2])

|=[1, 2.5, "a", "hello"]
print (I[2])




s = "Hello World"
print(s[2])
print(s[1:3])

=1, 2.5, "a", "hello"]

print(l[2])
print (I[1:3])




QRuestion



month =["'Jan', 'Feb’, 'Mar', ‘Apr', 'May’, ‘Jun’, 'Jul’, ‘Aug’
, 'oep’, 'Oct’, 'Nov', 'Dec’]




Ltﬁfv%’eagafu List



s = “Hello World” Traceback (most recent call last):

s[0] ="M’ File “.....”, line 2, in <module>
print(s) SERE

TypeError: ‘str’ object does not support
item assignment




|=1[1, 2.5]
I[0] =W’
print (I)




nN1561o List



|=1[1, 2]
l.append (3)
print(l)




ANNYN? List



|=1[1, 2]
print(len(l))



I =[]



For loop



weekdays =[ ‘Monday’, ‘Tuesday’, ‘Wednesday’,
‘Thursday’, ‘Friday’]
FoduUs $o list
for day in weekdays:
print(“Today is “ + day)

Today is Monday
Today is Tuesday




text = “Today is Sunday. | stay at home and keep
coding. Today is Monday. | stay at office and keep
cleaning.”




text = “Today is Sunday. | stay at home and keep

coding. Today is Monday. | stay at office and keep
cleaning.”

splitted_text = text.split()
print(splitted_text)

[‘Today’, ‘is’, ’Sunday.’, ‘I’, ‘stay’, ‘at’, ‘home’,
‘and’, ‘keep’, ‘coding.’, ‘Today’, ‘is’, ‘Monday.’, ‘I’, ‘stay’,
‘at’, ‘office’, ‘and’, ‘keep’, ‘cleaning.’]




QRuestion



text = “Today is Sunday. | stay at home and keep
coding. Today is Monday. | stay at office and keep

cleaning.”

splitted_text = text.split()
print(splitted_text)
print(splitted_text[2])
print(splitted_text[300])




[‘Today’, ‘is’, ‘Sunday.’, ‘I’, ‘stay’, ‘at’, ‘home’, ‘and’, ‘keep’,

‘coding.’, ‘Today’, ‘is’, ‘Monday.’,

‘r, ‘stay’, ‘at’, ‘office’, ‘and’, ‘keep’, ‘cleaning.’]
Sunday

Traceback (most recent call last):

File ..., line 5, in <module>




text = .Today is Sunday. | stay at home and keep
coding. Today is Monday. | stay at office and keep

cleaning.”

splitted_text = text.split()

for word in splitted_text:
print(word)




Today
IS
Sunday.

keep
cleaning.




foriinrange(5) :
print(i)




QRuestion






foriin range(11):
If (1% 2==0):

print(i)




input



name = input(“Please enter your name: “)
print(“Your name is “ + name)

Please enter your name:




num = input (“Please enter a number: ")
print(hum + 5)

Please enter a number: 10<enter>

Traceback (most recent call last):

File ..., line 2, in <module>

print(hnum + 5)

TypeError: Can't convert 'int’ object to str implicitly




num = input("Please enter a number: ")
print(int(hum) + 5)

Please enter a number: 10<enter>
15



num = int(input("Please enter a number: "))
print(hum + 5)

Please enter a number: 10<enter>
15



